Problems with quadrupoles with TILT

QISK1006M.F   :   QUADRUPOLE,      L=.5,      K1 := KQISK1006M,      TILT=-PI/4;
Three of these are in the TT10 tranfer line.

They are used for the emittance exchange of the CT beams,
i.e. transferring the horizontal emittance to the vertical plane and simultaneous transferring the vertical emittance to the horizontal plane.
Solution: USE PTC

!--------------------------------------------------------------------------

! TWISS PTC

!--------------------------------------------------------------------------

select,flag=ptc_twiss,clear;

select,flag=ptc_twiss,column=name,s,alfa11,beta11, alfa12,beta12, alfa22,beta22, alfa21,beta21;

ptc_create_universe;

ptc_create_layout,model=2,method=6,nst=5,exact;

ptc_twiss,icase=5,no=1, BETA0=INITBETA0, file=opticsxptcct.out;

ptc_end;

[image: image1.emf]Positions in TT10. Differences between MAD8 and MADX
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[image: image2.emf]PX in TT10. Differences between MAD8 and MADX
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[image: image3.emf]Alfa. Difference between MADX and PTC
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[image: image4.emf]Beta. Difference between MADX and PTC
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